SAP ABAP table ENT6038 {Generated Table for View}
ENT6038-EXNUM = EIKP-EXNUM
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ENT6038- KNKLI

KNA1 KUNNR

_——
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EIKP

MANDT [CLNT (3)]

EXNUM [CHAR (10)]

KNAl

MA

NDT [CLNT (3)]

KUNNR [CHAR (10)]

TOOO

MANDT [CLNT (3)]

TOO1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

TOOS5

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

TOOS5E

MANDT [CLNT (3)]

LANDI [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

TOO5G

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

ITYC [CHAR (4)]

TOO5S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

LAND [CHAR (3)]

TO014

MANDT [CLNT (3)]

KKBER [CHAR (4)]

TO040

MANDT [CLNT (3)]

MSCHL [CHAR (1)]

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]

T151

MANDT [CLNT (3)]

KDGRP [CHAR (2)]

T171

MANDT [CLNT (3)]

BZIRK [CHAR (6)]

T188

MANDT [CLNT (3)]

KONDA [CHAR (2)]

T189

MANDT [CLNT (3)]

PLTYP [CHAR (2)]

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

TCURV

MANDT [CLNT (3)]
KURST [CHAR (4)]

THIT
MANDT [CLNT (3)]
HITYP [CHAR (1)]

TINC

MANDT [CLNT (3)]
INCO1 [CHAR (3)]

TSPA

MANDT [CLNT (3)]
SPART [CHAR (2)]

TVFK
MANDT [CLNT (3)]

FKART [CHAR (4)]

TVKO

MANDT [CLNT (3)]
VKORG [CHAR (4)]

TVKT

MANDT [CLNT (3)]
KTGRD [CHAR (2)]

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]
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VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]




